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lll Semester 3 Year LL.B./VIl Semester 5 Year B.A.LL.B./B.B.A.LL.B./
B.Com.LL.B./B.A.LL.B. (Maj.-Min. System)
Examination, June/July 2025 (Even Sem.)

LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Q. No. 9 carries 20 marks and the remaining questions carry
16 marks each. ‘
3. Answers should be written either in English or in Kannada
completely.

Q. No. 1. Define Trade Union. Explain the procedure to registration of Trade
Union. Marks : 16
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Q. No. 2. Define ‘Lock out’. Explain the circumstances under which Lock
out is legal and illegal. Marks : 16
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Q. No. 3. Discuss the immunities available to the registered Trade Unions. Marks : 16
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Q. No. 4. Explain the provisions relating to health and safety measures

under the Factories Act, 1948. Marks : 16
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Q. No. 5. Discuss the adjudication of disputes and claims under ESI Act. Marks : 16

FOOOFTT Do, DR T0NDAEDY, W B AT By deddnd
99, C0RTFBEODRY, DTORO.

Q. No. 6. Explain the employer’s liability under the Employees Compensation
Act, 1923 for personal injuries of employees Marks : 16
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Q. No. 7. Write a note on partial disablement and total disablement. Marks : 16
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Q. No. 8. Write a note on any two of the following : Marks : 8x2=16
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(a) Standing Orders.
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(b) Illegal deductions under Payment of Wages Act, 1936.
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(c) Trade Union Fund.
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Q. No. 9. Solve any two of the following problems : Marks : 10x2=20
CIRYTRTAL QTR DI NTI) TOTOA
(a) Rashmeeka and Co. is a public utility service industry, where a strike

commenced during the pendency of conciliation proceedings and the
workmen plead that the strike was provoked by employer. Decide.
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(b) Mr. Ravi, an employee in Gandhi Industry died in a fatal fire accident.
The employer through his manager paid to the widow of Ravi a
compensation of ¥ 5,00,000/- directly. Is it valid payment ?
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(c) Workmen immediately after reporting to duty against the will of the

employer leave the place of work to attend the funeral ceremony of
a former employee. Does it amount to illegal strike ? Decide.
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